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CHAPTER 3 TEST REVIEW

For questions 1 and 2, refer to figure.

1. Which segment is skew to CD ?

a. EFF b AE c. AB

2. Which segment is parallel t0AB ?

a. DC b. BF c. EH

For questions 3 - ‘8, refer to the figure. Identify the specific name for each angle pair.

3. L4and £8

a. alternate exterior

Qc;}orresponding

4. XS5andX11
a: alternate exterior

c. corresponding

b. alternate interior

d. consecutive interior

b. alternate interior

d. consecutive interior
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5. Given b/l d and m«3=99, find m«10.

a. 99 -b. 61

(c.81 ) | d. 30

6. Givené//d and mx 8 =73, find rm,i']O.
a. 17 @3
% ¢ 107 L8 ’;’L'éi.‘ 90
- X=73
Arn

7. Givenb//c and mx 7 =85,find m £ 1.

(} . b®

c. 58 d. 42.5

8. fm£4=10x-6andm«5=4x+ 18, find x so that b// c.
, LY ¢S =80
Jox-le + Hutig =18
'/le +12 =1%o
g V68
X= 1Z
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9. What is the slope of a line parallel to the line containing (2,5) and (6, -11) 9.
c.-1/4 d. 4
Ay~ 16 y
AX T 4 T

10. Find the slope of a line perpendicular to the line containing (-2, -9) and (8,6) 10. E

e
d. 3/2

b. 2/5 c. 2/3
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11. Find x and y in the figure. 1. x= (
\'\I’ \ Eé / ‘
v = - ge 5
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8x-1,u/ . ¥ f
p-, &
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ESE SO : y
R/ -8 22
X+ by = 3o
+(8 % -<
Find the slope of each line through the given points. -
12. SW | s(-12), w(0,4) | ] Z\‘ AX T | 1zm=_ Y
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13 GH | G(-2,5), H(1,-7) | 1B =Y

- Determine whether K]W and S T are parallel, perpendicular, or neither.

14. K(-1,-8), M(1,6), S(-2,-6), T(2,10) ' 14. Nef Mt
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15. K(:3,-5), M(5-1), S(-2.6), T(4,3) - | 15. 1) (M0
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16. K (1,-4), M (5,12), S(-8,3), T (-4,2)
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For questions 17 - 19, write an equation in slope-intercept form for the line that satisfies the g/'ven conditions.
4 . =
17. m=_2 -int t=2 . 17. — X+
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18. m=3, cbntaflns (2,-3)

9 = M=% | %%“ 3 A (v
(=302
43 B(L-2) )= 3x-1

19. Contains (-4,2) an | 19._ U

18. (Cll f3‘76 ‘C(.
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For questions 20 and 21, find x so that || m _;( ‘
| A=y +z g
20, : £ Y 20. x=

i
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7’\L’--'Zq > § +18
\S\.X ‘X |
QY - 24= 18
)y Q4 =18
LR

21. | AX = 4R "
= g
A2 SeAM=)8o

/X -2 = 180
- /&é\
X=X,




22. Draw the segment that represents the distance from E to AF

| 8
23, x=6 x=5 A 3 AL \ 23, _d= \\




Complete the following proofs:
25. Given: c|ld,£6=X11

c

Prove: al|b

Reasons

1) Cild
2.) mell = mdiy
3.)26 =4 1)
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i) Given
2,) AENA
3,) Glven

14,) bee. of Z Ls
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Statements Reasons
DR Sen, LRECE L) Given

2 mLR = MmN, mLA = e LP
3)men = n L P
q.) Peil pp

2.) W€ of = LS
3 ITeansivtve. Propertey

/—{) Convetse to ALA



